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Read the passage titled as “Sophia- The First Robot Citizen” given on the page no. 154 of your

grammar book ‘Grammar and More’ and the following questions:

i) What is artificial intelligence?

ii) What do you think makes Sophia different from other social humanoid robots?

iii) How does Sophia describe herself?

iv) When did Sophia come to India?

v) What do you mean by ‘portmanteau word™? Give examples from the passage.

1. Imagine that you found an ancient treasure buried in your school playground. Express your
feelings in the form of diary entry in about 150 words.

2. Do as directed.

i)She likes playing cricket. (Rewrite the sentence with the correct question tag)

ii) You aren’t afraid of snakes. (Rewrite the sentence with the correct question tag)

iii)Such a lovely day (Punctuate and write the type of the sentence)

iv) You did a really great job with that piece of paper. (Rewrite the sentence using correct
interjection- Alas! /Wow!)

V) do you know in this class? (Who/Whom- Fill in the blank)

3. Fill in the blanks with correct ‘auxiliary verb’.

i)Riya and her brothers at school. (is/are)

ii) One of my sisters going on a trip to Assam. (is/are)

iii) Either answer acceptable. (is/are)

iv) Fast food, like burgers and street food, harmful for our health. (is/are)

v) Neither John nor Harry gone to work. (has/have)

4. Replace the words underlined with suitable nouns and rewrite the sentence.

i)The forest was alive with a gathering of animals roaming through the trees.

ii) The station was bustling with a gathering of people waiting for their trains.

iii) The garden was teeming with a gathering of insects buzzing around the flowers.

iv) The zoo was packed with a group of people observing the animals.

v) The classroom was filled with a gathering of persons listening to the lecture.

Subject: MATHEMATICS
1. Write a negative integer and a positive integer whose sum is -53.
2. Find the product:

a) (-12)x(-13)x(-5) b) 3x(-8)x(16)

3. Verify a+(b+c)#(a+b)+(a+c) for a=-10,b=5,c=5.

4. Verify: 19x{7+(-3)} =(19x7)+(19x(-3))

5. Find the value of

a) [36+(-9)]+[(-24)+6] b) [(-40)x(-1)]+[(-28)+7]

6. At a shopping mall, the air conditioners are set so that it reduced temperature at the rate of 3°c

every hour. If at 10:00 AM the temperature inside the mall was 35°c, what will be the
temperature inside the mall at 5 PM ?

7. An elevator descends into a mine shaft at the rate of Sm/min. If the descent starts from 10m
above the ground level, how long will it take to reach —340m.

8. Find the product:

a) ﬂxé b) 7><2i
7 16 15

9. If milk is available at RS.17% per litre, find the cost of RS.7élitres of milk ?

10. Find the value of: a) 2—3;) of a kg b) %of 128
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11. g of Skg apples were used on Monday. The next day 5 of the remaining apples was used. Find

the weight of the apples left now ?

12. Find the sum: 18+0.562+23.67

13. Raina travels 23km 20m everyday. Out of this, she travels 15km 100m by bus and the rest by
auto. How much distance does she travels by auto?

14. Aditi bought vegetables weighing 20kg. Out of this, 6kg 200g is onions, 4kg is tomatoes and the
rest is potatoes. What is the weight of the potatoes?

Subject: SCIENCE

1. What are the functions of guard cells?

2. Potato and ginger are both underground parts that store food. Where is the food prepared in
these plants?

3. A leguminous plant can restore the soils concentration of mineral nutrients. Give some examples
of such plants.

4. Why is dodder plant categorized as a parasite?

5. Mosquitoes, leeches, bed bugs and lice suck our blood. Can they be called parasites?

6. A goat eats away all the leaves of a small plant. However, in a few days new leaves can be seen
sprouting on the plant again. How did the plant survive without leaves?

7. Why is it not necessary for plants to have a digestive system?

8. How will the absence of animals on Earth affect the amount of oxygen and carbon dioxide in the
air?

9. Write about the various associated glands of digestive system of human beings and their role in
digestion.

10. Sita got her gall bladder removed surgically as she was diagnosed with stones in her gall
bladder. After surgery, she faced some problems in digestion of certain food items when
consumed in bulk. Can you tell which kind of food they would be and why?

11. What will happen to the stomach if we do not eat a meal?

12. Rahul was eating his food hurriedly so that he could go out and play. Suddenly he started

coughing violently. Why?
Subject: SOCIAL SCIENCE

. What do you mean by the natural environment? How does man modify his environment?

. Which are the major components of the environment?

. What is the biosphere?

. What is the lithosphere?

. Who was considered a ‘foreigner’ in the past?

. In what ways has the meaning of the term ‘Hindustan’ charged over the centuries?

. What does the term pan-regional empire mean?

. In a democracy why is Universal Adult Franchise important?

. Re-read the box on Article 15 and state two ways in which this Article addresses inequality.

Note -

Project on Historical Monuments in Visakhapatnam:

e Statue of Queen Victoria, St. Mary’s School, King George Hospital, Collector’s Office, AVN College.
(Write Five lines and Draw the picture any these of historical Monuments)
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